Q 1=
0L O
- O & A ’
| A28 STV 22HY +24.5x
o EAURNMI XS +23.0x8 o) EHB AN TIHM +1.5%8
X2 o= - mfoli-Z0t HEE SHS 12510 AAIHAFHNE 90—100% 1A
&4 EHMZ 600~1,0002H XI5
= (CH&)) 22300 27| + 57| (ot 10~30212) 370THH 27| oot 50—1002H 2 = 014
® 1 2Kt WA x| 212 (100+3002t2) B X|CH 1,4000H2] X| 2 °
2/427| TR0 T2 £ A A i
+1.7z% +0.3z2
+1.0=3 o, MuTl-50{7} +0.2%3
« SEPLAUE ERITE X| 2 St
« St A ET0) YW AL OPERIZ XA
o 28%d HOUTEH M H|S YLK S
xlot71|$ [HAI- 20%x% 0|A|-g| :Lox|_?_1 3= ]1|.|9|x| ars e |
TIa1S Hli'o = Vo=l oBNME oS od
o 713AIE - 21 YA +0.1x8!
she 3z | 3=
(@eh5%2 | 10bpQlst « WIR I14 Q& A2 70% =11 SHA| X[ &
L 20%8 )&
siry= ory) 25918l 30bpolst o AZONY X2 X2 (Rl 2| 50212d) ZHTH
Yarjsy a2 Lo008es | 384N | o1z * HXIH 70 S SRR T (e Kk 62tel) S
RS S2RS | 10002t ee) | J29% | 0.2FH
— = B rHe 112
* 138 HE - K2e|. O~ I ﬂE -I? [Ila II‘I‘—I +0-1§g
o mjET +0.03x!
= L = o
| SA-Z21HM 8 X3 F1LAZ2 . ssjor a2 s oHRIR cnmise Rz 007t
«E70. Iaj2h A ChAF 1002+ (70ak, 0.7x2)) o I|3X| =0 T & OtA| S| U2 = 21Tl (600, 571Y) &
o HOIEHA] - .o M A (H|ZHR|) 7| A CHAF 2002
16194E 03%8) ° o MELHS +0.03=3
ok L g Ve 2

ir



